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EAABRRLEE BEDb35cm AKEEI=S3 cme RPEBAS S
HEEM=60tfm - B2 6 % D29 4 /14A%5 - 24k £ =350 kgflem? »
887 R 38 B £,=4200 kgf/lem® - — % D29 4A#5 4% @Ak A 6.47 cm® - ik
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(1) faBatmlREs > fufEs
x»= 0.6d = 0.6x53 = 31.8 cm
a=Px,=0.8(31.8) =25.44 cm
_0.85f/ab _0.85(0.35)(25.44)(35)

A== e =.63:07cm’ > A, =6(6.47) = 38.82cm? .~ fiIf&
] .
YF.=0 — Af, = 0.85F:ab
38.82(4.2) =0.85(0.35)(35a)
15,
= a=15.66.cm x:{%:%:wm cm
3d o
Xooos = 5 =19875 cm > x .6=09
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6.61 cm?

- e 0.8/f, 14 0.84/350(35)(53
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Huf, = 2f,/ 3 = 2800 kgf/cm?

C.=4+0.95=4.95cm
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38x 2800 30x 2800}

= min[38-2.5(4.95) , 30] = 25.625 cm

Se= EFILENLEEEE  (on center)
25,:+2.87+0.95(2)+4(2) = 35

fEH s, =11.12cm = 25.625cm OK!
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(1) V, =053,ff.b,,d=0.53\280(30)(56) =14899.2 kgf
2oV, + Vo) =V,
0.75(14899.2 +\/.) = 36000 fig Vv, = 33100.8 kgf
Af,d  1.27(2)(2800)(56)
v, 33100.8
2V, =29798.4 kgf <V, <4V,

(2)s= =12.03cm
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